
GMAT   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Lecture Four
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前提 结论

加强

推理

• strengthen

• strongly support

• strongest ground for
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Excavation of the ancient city of Kourion on the island of Cyprus revealed a pattern of 
debris and collapsed buildings typical of towns devastated by earthquakes. 
Archaeologists have hypothesized that the destruction was due to a major earthquake 
known to have occurred near the island in A.D. 365.

Which of the following, if true, most strongly supports the archaeologists’ hypothesis?

(A) Bronze ceremonial drinking vessels that are often found in graves dating from years 
preceding and following A.D. 365 were also found in several graves near Kourion.
(B) No coins minted after A.D. 365 were found in Kourion, but coins minted before that 
year were found in abundance.
(C) Most modern histories of Cyprus mention that an earthquake occurred near the 
island in A.D. 365.
(D) Several small statues carved in styles current in Cyprus in the century between A.D. 
300 and A.D. 400 were found in Kourion.
(E) Stone inscriptions in a form of the Greek alphabet that was definitely used in Cyprus 
after A.D. 365 were found in Kourion.
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前提 结论

削弱

推理

• seriously weaken/undermine/jeopardize

• cast doubt on

• call into question
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An overly centralized economy, not the changes in the climate, is responsible for 
the poor agricultural production in Country X since its new government came to 
power. Neighboring Country Y has experienced the same climatic conditions, but 
while agricultural production has been falling in Country X, it has been rising in 
Country Y.

Which of the following, if true, would most weaken the argument above?

(A) Industrial production also is declining in Country X.

(B) Whereas Country Y is landlocked, Country X has a major seaport.

(C) Both Country X and Country Y have been experiencing drought conditions.

(D) The crops that have always been grown in Country X are different from those 
that have always been grown in Country Y.

(E) Country X’s new government instituted a centralized economy with the 
intention of ensuring an equitable distribution of goods.

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网



•
•  focus 

•
•

•  focus 

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网



One variety of partially biodegradable plastic beverage container is manufactured from small 
bits of plastic bound together by a degradable bonding agent such as cornstarch. Since only 
the bonding agent degrades, leaving the small bits of plastic, no less plastic refuse per 
container is produced when such containers are discarded than when comparable 
nonbiodegradable containers are discarded.
Which of the following, if true, most strengthens the argument above?
(A) Both partially biodegradable and nonbiodegradable plastic beverage containers can be 
crushed completely flat by refuse compactors.
(B) The partially biodegradable plastic beverage containers are made with more plastic than 
comparable nonbiodegradable ones in order to compensate for the weakening effect of the 
bonding agents.
(C) Many consumers are ecology-minded and prefer to buy a product sold in the partially 
biodegradable plastic beverage containers rather than in nonbiodegradable containers, even if 
the price is higher.
(D) The manufacturing process for the partially biodegradable plastic beverage containers 
results in less plastic waste than the manufacturing process for nonbiodegradable plastic 
beverage containers.
(E) Technological problems with recycling currently prevent the reuse as food or beverage 
containers of the plastic from either type of plastic beverage container.
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A drug that is highly effective in treating many types of infection can, at 
present, be obtained only from the bark of the ibora, a tree that is quite rare 
in the wild. It takes the bark of 5,000 trees to make one kilogram of the drug. 
It follows, therefore, that continued production of the drug must inevitably 
lead to the ibora’s extinction.

Which of the following, if true, most seriously weakens the argument above?

(A) The drug made from ibora bark is dispensed to doctors from a central 
authority.

(B) The drug made from ibora bark is expensive to produce.

(C) The leaves of the ibora are used in a number of medical products.

(D) The ibora can be propagated from cuttings and grown under cultivation.

(E) The ibora generally grows in largely inaccessible places.
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Red blood cells in which the malarial-fever parasite resides are eliminated from a person’s 
body after 120 days. Because the parasite cannot travel to a new generation of red blood 
cells, any fever that develops in a person more than 120 days after that person has moved 
to a malaria-free region is not due to the malarial parasite.

Which of the following, if true, most seriously weakens the conclusion above?

(A) The fever caused by the malarial parasite may resemble the fever caused by flu viruses.

(B) The anopheles mosquito, which is the principal insect carrier of the malarial parasite, 
has been eradicated in many parts of the world.

(C) Many malarial symptoms other than the fever, which can be suppressed with 
antimalarial medication, can reappear within 120 days after the medication is discontinued.

(D) In some cases, the parasite that causes malarial fever travels to cells of the spleen, 
which are less frequently eliminated from a person’s body than are red blood cells.

(E) In any region infested with malaria-carrying mosquitoes, there are individuals who 
appear to be immune to malaria.
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In the last decade there has been a significant decrease in coffee consumption. During 
this same time, there has been increasing publicity about the adverse long-term effects 
on health of the caffeine in coffee. Therefore, the decrease in coffee consumption must 
have been caused by consumers’ awareness of the harmful effects of caffeine.

Which of the following, if true, most seriously calls into question the explanation above?

(A) On average, people consume 30 percent less coffee today than they did 10 years 
ago.

(B) Heavy coffee drinkers may have mild withdrawal symptoms, such as headaches, for a 
day or so after significantly decreasing their coffee consumption.

(C) Sales of specialty types of coffee have held steady as sales of regular brands have 
declined.

(D) The consumption of fruit juices and caffeine-free herbal teas has increased over the 
past decade.

(E) Coffee prices increased steadily in the past decade because of unusually severe frosts 
in coffee-growing nations.
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Codex Berinensis, a Florentine copy of an ancient Roman medical treatise, is undated 
but contains clues to when it was produced. Its first 80 pages are by a single copyist, but 
the remaining 20 pages are by three different copyists, which indicates some significant 
disruption. Since a letter in handwriting identified as that of the fourth copyist mentions 
a plague that killed many people in Florence in 1148, Codex Berinensis was probably 
produced in that year.

Which of the following, if true, most strongly supports the hypothesis that Codex 
Berinensis was produced in 1148?

(A) Other than Codex Berinensis, there are no known samples of the handwriting of 
the first three copyists.

(B) According to the account by the fourth copyist, the plague went on for 10 months.

(C) A scribe would be able to copy a page of text the size and style of Codex Berinensis 
in a day.

(D) There was only one outbreak of plague in Florence in the 1100s.

(E) The number of pages of Codex Berinensis produced by a single scribe becomes 
smaller with each successive change of copyist.
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The End
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